RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approving an Attorney Contract with the Law Firm of DeConcini McDonald Yetwin & Lacy, P.C.)

RESOLUTION NO. <u>06-821</u>

1	WHEREAS,	pursuant to Resolution Nos. 05-640 and 06-414, the Tohono O'odham Nation (the
2		"Nation") entered into an Attorney Contract with the law firm of DeConcini McDonald
3		Yetwin & Lacy (the "Attorneys") to provide legal representation to the Nation to the
4	:	Project for fiscal year 2006; and
5	WHEREAS,	the Attorney Contract expired on September 30, 2006; and
6	WHEREAS,	the design and construction of the Himdag Ki: Hekĭhu, Hemu, Im B I-Ha'ap, the
7		Tohono O'odham Nation Cultural Center & Museum will continue into fiscal year
8		2007; and
9	WHEREAS,	the Cultural Center/Museum Project requires continuing legal representation
10		related to negotiation of construction contracts and such other matters as may be
11		$assigned\ by\ the\ Attorney\ General\ with\ the\ concurrence\ of\ the\ Project\ Administrator;$
12		and
13	WHEREAS	the Cultural Center/Museum Project recommends the engagement of the Attorneys
14		for the foregoing legal services; and
15	WHEREAS,	attached hereto is an Attorney Contract with the Attorneys in the amount of \$7,500 for
16		fiscal year 2007, ending on September 30, 2007; and
17	WHEREAS,	the Cultural Preservation, Domestic Affairs and Budget & Finance Committees
18	i	recommend approval of the Attorney Contract.
19	NOW, THER	EFORE BE IT RESOLVED THAT:
20		1. The Tohono O'odham Legislative Council hereby approves an Attorney
21		Contract with the law firm of DeConcini McDonald Yetwin & Lacy in the amount
22		of \$7,500 for fiscal year 2007, retroactive to October 1, 2006 to September 30,
23		2007, substantially in the form attached hereto.
24		2. Funding of the Attorney Contract shall be provided from the Cultural
25		Center/Museum Project budget (Account No. 50-1516-810).
26		3. The Chairwoman of the Nation is authorized and directed to execute the
27		Attorney Contract.
28		

29

	RESOLUTION NO. <u>06-821</u> (Approving an Attorney Contract with th Page 2 of 3	e Law Firm of DeConcini McDonald Yetwin & Lacy, P.C.)						
1 2 3 4 5 6 7	3 AGAINST; 265.55 NOT VOTING; and 102 4 Section 2 (a) of Article VI of the Cons 5 Tohono O'Odham Nation on January 6 Secretary - Indian Affairs (Operations)	y the Tohono O'odham Legislative Council on the <u>08TH.</u> Danich a quorum was present with a vote of <u>2,175.25</u> FOR; <u>-0</u> ABSENT, pursuant to the powers vested in the Council by titution of the Tohono O'Odham Nation, adopted by the 18, 1986; and approved by the Acting Deputy Assistanton March 6, 1986, pursuant to Section 16 of the Act of June						
8		TOHONO O'ODHAM LEGISLATIVE COUNCIL						
9								
10	ri							
11	41	In the						
12 13	II.	Verlon M. Jose, Legislative Chairman						
14	ll in the second of the second	day of December, 2006						
15		day of						
16								
17	7							
18								
19								
20 21		ary						
22		•						
23		u.						
24	Said Resolution was submitted for a	pproval to the office of the Chairwoman of the Tohono						
25	day	of Leg July 2006 at A. S. Colore O. M.						
26	pursuant to the provisions of Section 5	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become defection						
27	upon ner approval or upon her failur	e to either approve or disapprove it within 48 hours of						
28 29	Submittal.							
30								
31		OHONO O'O DHAM LEGISLATIVE COUNCIL						
32	i.	1/1 $1/$						
33		$\frac{1}{2}$						
34	ve	erlon M. Jose, Legislative Chairman						
35		7						
36 27								
37 38	[i/] APPROVED	- 10 1 Annulian						
39	[//] APPROVED OF	the 18 day of Alluly, 2006						
40	[] DISAPPROVED at	9:34 o'clock, <u>a.m.</u>						
41	at at	o clock, O.M.						
42		A_{i}						
43		- Vanans mushunden						
44		VIAN JUAN-SAUNDERS, CHAIRWOMAN						
45 46		HONO O'ODHAM NATION						
46								

RESO (Appr Page	DLUTION N coving an At 3 of 3	O. <u>06-821</u> torney Contr	act with the	Law Firm of	DeConcini M	cDonald Yets	vin & Lacy, P.C.)
ii -		Legislative	Secretary o	n the 18	day of		
The state of the s	rum	, 2006,	, at <u> </u>	_ o'clock, _	<u> </u>		
. <	Sunie.	Topy					
Lucil	le Lopez, A	cting Legisla	tive Secret	nry			

ACTION: APPROVING AN ATTORNEY CONTRACT WITH THE LAW FIRM OF DECONCINI MCDONALD YETWIN &

LACY, P.C.

MOVED: COUNCILMAN TIMOTHY JOAQUIN

SECOND: COUNCILWOMAN LUCILDA VALENZUELA

DATE: DECEMBER 08, 2006

DISTRICT	ISTRICT LEGISLATIVE REPRESENTATIVES		FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI	1. FRANCES MIGUEL (Absent) (Vernon J. Smith) (Present)	155.40	х			
310.8	2. FRANCES G. ANTONE (Absent) (Lucilda J. Valenzuela (Norris)) (Present)	155.40	X	; 		
CHUKUT KUK	1. ETHEL GARCIA	129.35	х			
258.7	() 2. VERLON M. JOSE (David Garcia)	129.35	х			
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	110.80	х			
221.6	2. CYNTHIA E. MANUEL (Louis L. Johnson)	110.80	х		· · · · · · · · · · · · · · · · · · ·	
GU VO 193.1	1. RAYMOND VICTOR	96.55	x			
193.1	2. MICHAEL FLORES (Grace Manuel)	96.55			х	
HICKIWAN	1.Vacant	83.70	х			
167.4	2. SANDRA ORTEGA	83.70	x			
PISINEMO	1. BARBARA SALVICIO	85.90	X			
171.8	2. GERALD FAYUANT	85.90	X			
SAN LUCY	1.Vacant	84.50			Х	
169.0	2. GLORIA RAMIREZ	84.50			X	
SAN XAVIER	1. FELICIA NUÑEZ	96.90	х			
193.8	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	96.90	x			
SCHUK TOAK	1. FRANCES B. CONDE	73.45	X			Х
146.9	2. PHYLLIS JUAN	73.45	x			
SELLS	1. MARLENE SARAFICIO-JUAN**	210.50	х			
421.0	2. EVELYN B. JUAN MANUEL (Absent) (Kimberly Listo)(Present)	210.50	x		ŀ	
SIF OIDAK	1. WAVALENE ROMERO (Isidro Lopez)	93.35	х			х
186.7	(Isidro Lopez) 2. DARLENE ANDREW (Rita Wilson)	93.35	X			
	TOTAL	2,440.80	2,175.25	-0-	265.55	[02]